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I. ReflectionalongX-axis
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2: New app.type ofof problems:
OA

Examples
FCA=x2 l

Write theexpressions of the following%
FCX-3)= (X-3)2

ï hex):YQX+1)= (2×+112
sor(X)=3fix) =
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= fin)=4.
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ï s"y =2fit)-1 = y2 Y



theïX) =X-(1)z . Determinetheexpressionsforthe
following factors

g(X) =. -3 (X4)_|1 =

.fix-r)= {X-I" Y.
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r(H = 0.3f(++4)
.y++4)= -1(5 =(t,*3}}

=0.3.(++32

40S(t) =10. _(z -3)+5=

|ft2-3)=7-3-1= -#2-412

10(7-12+5



fixity\ Determine theexpression' ofall fact:

gt1) tfox)
ï heX)= g(x-D

r(4)= •A(4)+5

= (by= 9×2
= ï (x-it
= (x-in+5


